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At the start the examination before 

att~'lm!:>tin:g the paper 
check your test booklet and OMR 

Answer Sheet and ensure that : 

* The serial numbers of test booklet 

and OMR answer sheet are same. 

* All pages of test booklet and OMR 

answer sheet are nrnn<>rlv 

All "'"~"!lUI 

S.No. 

from S.No. are 

there in the booklet. 

In case of any I defect the 

candidate should immediately the 

matter to the for replacement 

of test booklet and OMR answer sheet. 

No claim I in this will 

be entertained after five minutes of start 

of examination. Candidate will be liable 

for it. 

3. Answer all questions. 

4. AI! questions carry equal marks. 

5. Only one answer is to be for 

each question. 

If more than one answers are 

marked, it would be treated as wrong 

answer. 

7. Each question has four alternative 

responses marked serially as 

You have to darken 

one circle or bubble indicating 

the correct answer on the Answer 

Sheet using BLUE BALl POINT 

PEN. 

8. Use of Mobile Phone/Biuetooth 

Devices or any other electronic 

gadget in the examination hail is 

strictly prohibited. If any such 

prohibited material found with any 

candidate, strict action will be taken 

against him/her as per rule. 

If there is any sort of ambiguity/ 

mistake either of printing or factual 

nature in Hindi and Version 

of the question, the English Version 

will be treated as standard. 

: If a candidate is found 

oopying or if any unauthorized material 

is found in his/her F.i.R. 

would be iodged him/her in the 

Police Station and he/she would liable 

to be prosecuted under Section 3 of the 

State Prevention of Unfair means Act, 

1992 and Board Board may 

also debar him/her permanently from all 

future examination of the Board. 
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